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Estimate how many stars.

Now count them.

Find the winner!

Ndme

Estimate

Number counted

Difference between
your estimate and

your count
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I counted f
in fives.

.;"‘
~ A »
%

-~

iz T counted
S SRR VN S S S ——— in tens.
,

: ’ Whrite number sentences
Count the total number of |oi3 and small stars in
the picture on page 2.

: Write them in two ways.

Big Smadll like this or

-

: and as a number sentence.

1z 18 14 15

When you add any two

numbers it does not matter
what, their order is.

like this

16

17

liS
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Clever counting
Counting the Pumpkins

Find an easy way to count them.

A 5'_‘h‘3 Ten Pumpkins go in one bqg.

How many bags can you fill with the Pumpkins?

HOW mqnﬂ Pumlokins are |eft over‘?

How many more PumPkins are needed to fill one more bog?

| 2 8 &4 B 6 7 © 9 [0



-
Exomp|e:
\IO +10 +10 +10 = LO== L groups of IO = LO= £ X'10 = 4O

a IO+10+10=
groups of 10 = — X =

b. 0O+10+I0+10+104+10+10+10=
gr‘oupsoﬂoz — X =

HOW man3 honds? HOW mCInl:J finger‘s?

Whrite your answer in2 ways.

groups of IO = and X 10 =

11 12 18 14 15 16 [7 18 19 20
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Numloers on ad hunclr‘ec] looor‘c]

Ta"(ins numbers
Count and say all the numbers from | to 100. Point as You go.

1 2] 3| 4|5 |6 8 | 9110
|
2]

3L 4O

L]
95
63
7l
8b
9L [0]0)

a.  Whrite the missing number in each blue block.
b.  Whrite in the other numbers.

What kind of numbers are the He”ow numbers?

ninetﬂ A

71 ob

b3

| 2 8 &4 B 6 7 © 9 [0



|23L5678q [2]3]c[E)o][7][e]afo) | [ (@@ s]c]7][8]a]0
[ fsw]se[ e[| @) | [v]e]s]w]s]e]n]e]la]o] | [i]e2]s]w]s]e]r]ie]d]20
21| 22| 23] 21 | 25| 26] 27| 28] 2a 30| | [21]22|23]21 25| 26] 27| 28] 2d 30| | |21 |22]23]21|25]26]27]28]2a]30
31 |32]33] 3L 35|36 |37 ]38[39]10| | |ai]32]33]3L s8]0 57]38]3a]c0| | |31 ]s2]333s]a5]36|37[38]39]u0
1] u2|e3]ue|esuo|u7]u8]ua]s0] | |4 |e2|u3]ue]es|eo]ur[usuals0| | |u[s2]e3]is]us|uo]47]i8]ua[s0
51 |52|53| 5. |55|56 | 57| 58] 59]60| | | 51]52]53]5L 55|56 57 |58]59]60| | |51 |52]53 |50 5] 5657|5859 |60

bl (62|63 |6L|65|6b| 67686970 bl (62|63 |6L|65|bb|67(68(69|70 bl (62|63 |6L|65|6b| 67686970
T 72|73|7L 75|76 |T7|78|79|80 T 72|73|7L 75|76 |T7|78|79|80 T|72|73 7L |75 |76|T7|78|79|80
81 |82|83|8L[85(86|87|88|89|90 81 |82|83|8L[85(86|87|88|89|90 81 |82|83|8L|85|86(87|88|89|90

91192|93|9L4|95|96(97 98|99 |I0O

91192|93|9L4|95|96(97 (98|99 |00

9119293 |94 |95|96(97 |98 |99 |I00|

Count and colour the |O:s. Cou?:ocr:%ciora g.\e Os Count and colour the 2s.
Count in IOs from Count in s from Count in 2s from
|0 to 100. 510 100. 2 to0 100.
Write the |Os from Whrite the 5s from Write the 2s from
1O to 100. 510 80. 210 100.

1 1z 13

&5 16 7

1§ 19 20




oooooooooooooooooooooooooooooooooooooooo

3 5| b | 71| 8
{12 [ 13|14 |15 (1617|1819 |20
20 1221232412526 |27 (28|29 |30
3l |32 (33|34|35(36|37|38|39|40
LI | 42 | L3 | Lh | LS| Lb | 4T | 48 | 49|50
ol |52 | 53 (55|55 |56 | 57|38 |89 |60
bl |62 | 63 | b4 |65 |bb|bl|68]|69|70
N {72 73|74 |75 176|771 |78 |79 |80
8l | 82|83 (8485|860 |87|88|89 |90
9 |92 (93 |94 |95 |96 | 97 | 98 | 99 |00

Tick (/] all the I0s Cross (X] the Bs Circle [O) the 2s

Write the numbers that, are in both the 2s and the 5s Pott.ern.

| 2 8 &4 B 6 7 © 9 [0



Counting Patterns

Fill in the missing numbers.

O; IO, 20, ; ) 50, ) ) 80, , IOO,

, |30, ) , |bO, , ; ; 2OO

0;5;10; ; : 25; ; ; L.O; : 50; 85; ;

. 10; ; . 85; ; ;100

O;2; 4; b; ; 12; ; :18; 0 22; 2L ;

: 30; ; . 3b; 38; ; ; WA Y

O; . 8; . 1b; 20; . 28; . 3b;

: 52; ; ; b ;12 ;80

O; . 10; : 20; :30; ; L.O; ; . 55;

60; . 10;7795; ; 89; ; ;100

O; 3; .9, 15 18; ; 2 ; : 33; . 39;

; LO; ; .94, 57, . 63; ; :72;75

11 12 18 14 15 16 [7 18 19 20
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PlCICG vc||ue

Showins BOUI" number‘s

Cut out the number cards from Cut.-out sheet |.
Use the cards to build these numbers.

L3 69 oL 35

n_'oooooooooo
000000000

m IIII
i
=
7

Now do it 30ur~se|f for these numbers usins Cut-out |.

TA

IO+9=19

LO +3 =43
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Wr-iting these numbers

\A/e can GlSO
We have done the first one for Yyou. say 9 ones.

IO + 9 lten + 9 unitsl,/

nineteen

Write the first five numbers, in the table above,
¥ in order from smallest to blggest

1112 18 14 15 16 [7 18

1€ 20




Addition and subtraction

Lebo's stall
Inthe mor‘ning Lebo has 19 chkets of CIPPleS.

BH lunchtime she has I3 Pockets left.

a. How many Pcckets does Lebo sell?

b. Write your answer as a number sentence.

Whrite five other numbers sentences to show the same answer.

5-9=06

| 2 8 &4 B 6 7 © 9 [0



Can You find all the number families of A,

|+ 13 =14 I3+ 1=14 l4L—1=13 14 —13=1

2+12=

3+1I=

L +10 =

S5+9=

b+8=

7+7=

I am qoing to do
the sqsme ?vith |2.

| +11=12
2+10=12
3+9=12
L+8=1I2
5+7=12
b+b=1I2

11 12 18 14 15 16 [7 18 19 20



Fi.n.d o half of 3.

Show as a number or number name. A dr‘qwing might he|P You.

I 2 8 & B 6 7 8 Y




Double the number using a number line.
The first examP|e is siven to You.

b.Doublef) + —=

T T T T | | -
o | 2 3 4 b 7 8 9 10
c.DouHe 20 + e

T T T T | | -
O 10 20 30 4O 50 b0 70 80 90 10O
d. Double 4O + —

T T T T 1 | T
O 10 20 30 40 70 80 90 100
N’ Comp|ete the fo"owing ComP|ete the fo"owing
a. Double | 2 a. Half b 3

b. Double b b. Half 8
c. Double 1O c. Half |[|.
d. Double 30 d. Half 60
e. Dou|o|e 50 e. Hdho 70

1 12

13

4

I'5

16

17

liS

1€ 20
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Colour one quqr‘ter' of the balloons red and
the rest blue.

Colour one half of each box red. NS ’ NS NS ; NS ’

Look at. the shapes. Tick the / / / /

shopes that show halves.

Colour one half of each shope that
is divided into halves. \g J

s
Norim AVAm N
5

/TN
AN [N/

- [ 2 8 4 5 6 /7 8 9 [0



Colour in a half of the shqpes. What is a half of the number of the shaPes?

one quqr‘ter‘

LI
O]

11 12 18 14 15 16 [7 18 19 20
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- moueazzze A

AEB540001 B

AEB540001 B

- O O N O EE O EE O EE S SN O EE O EE N SN M SN M W M SN M E M E I I O EE O I S S S S EE O Ee E Ee Em Ee Em e

Compqre estimates
and totals.

Gugu saves for a Pqir‘ of shoes that costs R89.
So far she has half the amount..

HOW muc|’1 more does she need?

Whrite a number sentence to show your answer.

| 2 8 &4 B 6 7 © 9 [0



Maria sorts the notes into Pi|es of .
She also has some notes left over.

White the totals for each row of Pictures.

Amount,

7 Cho"ense
A visit to the zoo

Some adults and children goto the zoo.
Theﬁ bug tickets for RAO.

§ HOW manﬂ are chi|dr‘en?

How many are adults?

Is there another answer? ChilEAes
- Aduts Chidren Addlzs

11 12 18 14 15 16 [7 18 19 20
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Patterns

Use this 200 number board to answer the oluestions.

I 2 3 A 5 b 7 8 q 10
I 12 13 |L; 15 lb 17 18 19 20
2l 22 23 21, 25 26 2] 28 29 30
3l 32 33 3L 35 3b 37 38 39 4O
LI | 42 | L3 | 44 | LS | 46 | 4T | 48 | 49 | 50O
3] 52 53 S, 55 Sb 57 58 59 60
ol b2 b3 bl b5 bb b/ 68 69 70
1l 12 13 1L, 15 16 71 18 79 80
8l 82 83 8L, 85 8b 87 88 89 90
q 92 93 q; 95 96 q7 98 99 | 100
O [ 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | IO
Il 112 113 14 15 1[ II7 I8 119 120
121 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130
13 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 14O
/A 142 | 163 | &b | 165 | 146 | 147 | 148 | 149 | 150
15 152 | 163 [ 154 | 155 | 156 | 157 | 158 | 159 | 160
bl 62 | 163 [ b4 | 165 | lbb | 167 | 168 | 169 | 170
7l 72 | 1713 | 174 | 1715 | e | 77 | 178 | 1719 | 180
18l 182 | 183 | 184 | 185 | 186 | 187 [ 188 | 189 | 190
191 92 | 193 | 194 | 95 | 96 | 197 | 198 | 199 | 200

X Use the 200 number board to comP|ete the next four numbers in these number
= Patterns. Then colour the Pottern on the number board.

105,110, 115, , : , 87,90,93,
36, 40, L., , , , 184,186, 188,
70,65, 60, , , , 138,135,132,
180, 76,172, : : : 4.,12,10

| 2 8 &4 B 6 7 © 9 [0



; Write the numbers that come next in each Patter‘n. Then colour in the Pattern.
;._.-(' What do You notice about, the numbers shaded with the same colour?

N
O“.

Counting in fives. Counting in twos.
5 (@) 2 L
Counting in threes. Counting in tens.
3 b (@]

A A NN
= L B

11 12 18 14 15 16 [7 18 19 20
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CUI"VGd edge

CUI“VGCI edge

CUPVGd eclge

curved eclge

str*oight ec]ge

straight ec]ge

straight ec]ge

straight ec]ge

—/
4 N

K

CUPVGd edge curved eclge CUPVGCI edge CUI"VGd eclge

strc:ight eclge strc:ight eclge strc:ight edge strc:ight edge

—) 2 —\C —) 2 —/

, _ ‘ 503 if the can is behind, in front of, next to or on toP of the box.

N 7
behind in front of 1 behind in front of
next to on t0|o of next to on toP of

1VANG 1/

N n
behind in front of . = behind in front of
next to on top of I next to on toP of

SN 2,

11 12 18 14 15 16 [7 18 19 20
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Drow, name cmcl coqure 2D Sl'\CIPeS

Draw the sthes.

Tridn9|e Circle

Scluar‘e Rectdn3|e

Countins the shopes.

Count how many shdpes like this You can find in the Picture.

.

A\
O
O

.14

- | 2 8 4 b 6 7 © 9 10




Colour dll the

big circles r‘ed, small circles green;
|oi3 t.r‘icn3|es blue, small triqn9|es orange;

blg sciuclr‘es He"OW, smo” sciuclr‘es I’DUT‘PIG;

big rectan9|es |orown, small rectan9|es Pink.

How many sides does each shcpe have? Write the number in the block.

We have done one for Yyou. Are the sides str‘dight or curved? Colour in the correct answer.

————————————————————————

11 12 18 14 15 16 [7 18 19 20
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Time passes

Reading the time
What times do these watches show?

He|P Minnie Mouse count, the minutes in Ss.

Start at the 12. Go all the way around.

How many minutes do You count,?

How many minutes in | hour?

Wr‘itins the time
Draw the hands to show the times.

oluor‘ter Post b half Post 8 quar*ter toll half Past o)

I 2 8 & B 6 7 8 Y



He leaves home. He gets to school.

HOW IOI’\g does Zander take?

The bread goes The bread
into the oven. comes out.
The bread bakes for minutes.

..............................................................................................................

Cha"ense
[ Tcanseea Pattern. }

In double time
qa. Chonge the hours to minutes.

Hours | 2 [.. 8
Minutes 60

b. Mandla takes 4.5 minutes to Set to school. Zander takes twice as |ong.
: How many hours does Zander take to get to school?

11 12 18 14 15 16 [7 18 19 20
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Medsur‘ing |en9t|'\

- -

A A

Together, all
the sides of this

Together, all
the sides of this
square are

[,. Penci|s |ong.

t.r‘ian3|e are

3 Penci|s |on9.

I wonder how
|on9 and wide the
rectan3|e is.

How many Penci|s |on9 is the r‘ectqn9|e'?

How many Ioenci|s wide is the r‘ectcng|e?

|en9th

\

width

How did You use the Penci|s to count?

| 2 8 &4 B 6 7 © 9 [0



a. How many of the red lines do You need to cover the black line?

L

b. How many of the red lines do You need to go all the way

around the r‘ectqn9|e?

c. Whichis |on9er, the tolo Pqth or the lower one, or are theﬂ the same?

11 12 18 14 15 16 [7 18 19 20
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The measuringJu holds 10 cups
of water. I have cﬁreod3 Put two
cups into the mecsur‘ingJug.

How many more cups of water will fill the container?

How many cups of water are in the container?
How many cups more do we need to fill the container?

g

In the container: Need more:

- gud :
gada
In the container: In the container: Need more:
e. @j l@ e ———
Ga4gd U=
In the container: Need more: In the container: Need more:

| 2 8 &4 B 6 7 © 9 [0



If one cup fills theJug to the second
interval, how many cups do You need

to fill thejug to:

11 12 18 14 15 16 [7 18 19 20
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\l\/or‘king with mass

Let.'s measure I‘\OW heavg we are!

To find out. how heqv3 or |i3ht we are, we use a scale.

We use ki|ogr‘oms to measure how heovH we are.

We use this abbreviation: kg. Who weighs the most?

Answer the cluestion. White aor b.

On this scale both C,F,P|es On which scale is the green c|o|o|e heavier than the red d|o|o|e

weigh the same.

D On which scale is the green GPP|e |i9hter* than the red qPP|e

| 2 8 &4 B 6 7 © 9 [0



Balance the scales.

We did the first one for you.

Draw how many bricks or balls You need
to make these scales balance.

S [S—

Two bricks weigh the

same as 'FOUP lDG"S.

2 PCIPCGIS kg

b. 3 PQPCG'S ks

c. CanImeasure L Por‘ce|s at the same time on this kitchen scale?

Whﬂ or whg not?

11 12 18 14 15 16 [7 18 19 20
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Data hqnc”ing

Shoes in the class

Read the stor‘H.
Thabo: Wow, Miss! Jack is a giont! He wears size b shoes!

Mrs Khoza: Welll Yes, Thabo, that is |oig for a nine year old!
What size shoe do You wear Thabo? What sizes do the rest of the class wear?

Let'sdoa surveg!

The learners call out their sizes, one l)lj one.
Mrs Khoza writes the sizes on the board.

Mrs Khoza: Count,, then write how many of each size.

Fill in the table below.

Shoe sizes in the class

Size | Size 2 Size 3 Size £, Size 5 Size b

| 2 8 &4 B 6 7 © 9 [0



Size 2 Size 3 Size [, - Size b

Now answer these cluest,ions.

a. Most learners wear shoe size

b. The fewest, number wear size

c. children took qut in this survey.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

What about. HOU?

Find out what shoe sizes You and your friends wear!

* Workina group of bto 8.
* Collect your data.
* Whrite the number of shoe sizes in a table.

° ComPar‘e answers with other groups.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

11 12 18 14 15 16 [7 18 19 20



Compar‘e cmc| or‘der‘ number‘s

15 Tl I

7o

18

80

82

8b

87

89 92 95

93

L 96

q7

99

98

What, number is
before 847
What number is

8l

83

8L

85

88

90| 4l

4 O O ) What, number is
/ between 88 and
90?

after 847

b/

Use the number board to answer the c[uestions.

Which number is before 687?
Which number is after 687?

Whrite down five numbers smaller than 7I.

Write down five numbers bigger‘ than 7.

What numbers are between 79 and 847
Write the numbers from the smallest to |ar9est. 713,52,50, 59, bl

Write the numbers from the |or*3est to smallest. 74, 96,99, 91, 38

9

I 2 8 & B 6 7
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ComP|ete the table. Start with the Siven number.

one more one less ten more ten less

Circle the biggest number.

18 87 7 36 b3 33

Circle the smallest, number.

99 19 9 A A 4O

If < means smaller thon, and => means bigger thon, comP|ete:

32| < e n[ > |8

S 98 89 51

Find 5 numbers in a newspaper between 5O and 99 and Paste them in order from
the smallest to the biggest.

4 )

\.

11 12 18 14 15 16 [7 18 19 20
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Place value to 99

Showing numbers using ol?jects

Tens Units

We can show numbers with P|oce value blocks.
A small block stands for al. It is a unit.
A rod of 10 small blocks stands for a |O. It is a ten.

(
- Tens Units
You can show a number using = A 7
tens and units. -
- f\or‘ta—seven
Here is how to show /7. - L
ul y,
Wr'itins numbers in digit.s and words
a.  Under the Pict.ure, write how many tens and how many units.
Then write the number in SSmbo|s and words.
[ ]
[ [
[ ] [ ]
[ ] [ [
Tens Units Tens Units Tens Units
3 |
3l
thir'tg_one

I]

2 8 & B 6 / ©
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b. We can QlSO use our number‘ CCIPCIS to Sl’\OW it. h -

H H
Number v many v many Write the number in words
tens? units?
2b 2 b t.wentg -six
b
99
What is the number?
‘ Tens Units
[
al 3 5
= thirta five
35
[
]
Tens Units
[ ]
i i
[ 1
]
Tens Units
[
[
[

]

12 13

4

15 16

17 e 1< 20

39



Putting tens together‘ when
we add to 99

Readins
Here is one way to We have one ten Now we have another way to show
show 22. - - We have twelve 22.
Tens Units - - units. Tens Units

We will put (@) 2 tens 2 units
of the unlt,s in
a group. -

Let's add 27 + /. The blue blocks are the units we start with and the red units are the

units we are oc|c|in9 to them.

27 is 2 tens and 7 units. We have 2 tens and Il units. Now we have
Then we add [,. more units. 3tens + | unit = 3l
Tens Units Tens Units Tens Units

2 tens 7 units We can show |O units as | ten.
+ l,. units

| 2 8 &4 B 6 7 © 9 [0




Whrite the number sentence shown bﬂ the Pictur‘e.

Units Tens Units Tens Units
[

J

7

0

J

[ 7
I0O+5+6 + + + =

ComP|ete the Pictures. Write the number sentences shown b}j the Picture.

Tens Units Tens Units Tens Units

7

O o

O g

0 g

T g

# @

g 0
Tens Units Tens Units Tens Units

11 12 18 14 15 16 [7 18 19 20




Sit, at. Yyour deskl!

In our school each learner has their own desk.

There are b learners in Grade 3A and 2L in Grade 3B.
How many desks do we need for both classes?

Wor*king with a Partner

Look at how these three learners used a number line to solve the Prob|em. Comp|ete the sums using

the exc:mple.

+10 +10 + L
{1
Lb 56 bb 70

This is what I do: I first add 10. This brings me to 5b.
Then IJumP another 10 to get to bb.
And |ost.|3, |Jump L, more to land at 70.

=46+ 10+ 10+ 4

=56+ 10+ 4
= bb + 4
=170

a 32+ 25=

| 2 8 &4 B 6 7 © 9 [0



b. 52+ 2b =

A

c. Lb+ 25=

A

I must add 24 ®)
to l|.b O fo)

This is what I do: First I wi||JumP L. That will br‘ing me to DO.
I canumP 20 more, which br‘ings me to /0.

= LO+ 10+ 20
= 50 + 20
=70

11z 18 14 15 16 17 18 19 20



b. 57+ 19=

v

+ 20 + 4
p /_\/\ . I must add 0
| | 2/, to ,b.
Lb b 70

This is what I do: From 4.6, I canumP 20. That br‘ings me to bb.
Now I have toJumP L, more and then I reach 70.

= Lb+ 20+ 4
= bb + 4
=70

a. b3+ 2[|.=

\/

b. 65+ 29 =

| 2 8 &4 B 6 7 © 9 [0



The baker delivers 54, brown 'and b8 white loaves.

a. How many loaves a|together‘?

b. Find the total on a number line. Show the numbers and the size of the‘jumps.

Add the Fo"owing without using a number line. Use any other method You like.

11z 18 14 15 16 17 18 19 20
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_2|c1 A

b
4

v,

Subtract on a number line

One |eqrner! One ru|er!

The ClGSS neecls 53 ru|ers. We have on|3 35
HOW man more dO we need? 53 - 35 =

Working with a Partner

Read how the same three learners use a number line here. ComP|ete the sums using the examp|e.

I have to subtract
35 from 53. Subtraction

means to take away.

18 20 23 33 43 53

So, I will start at 53 and take away. T'll take away IO, 10, 10 — that brings me to
23. Now to take away five. First, I take away 3, and I come to 20. I take away 2
more and I Set to 18. So we need |8 rulers.

=383-10-10-10-3—-2
= 43-10—-10-3-2

=33—-10-3-2
=23-3-2
=20 -2

=18

| 2 8 &4 B 6 7 © 9 [0



—~~——V

5 -3 “10 Subtraction means to find
N AV S > the dif ference between
T ] | 53 and 35.

35 LO L3 53
T'll start at 53 and count down to 35 to find the difference. If T count back

lol:j 0,1 get to £3. I can count back 3 more to get to 4O. Then I count down 5
more to 3et to 39.

IO P|us 3 P|us five is 18. So we need I8 more rulers.

a 38-Il4=

11z 18 14 15 16 17 18 19 20




I can start at. 35 and see
how many Jumps it takes
me to count up to 53.

I can start at 35 and see how manHJumPs it takes me to count, up to
53. Ten P|us five P|us three is 8. We need |8 more rulers.

L

qa. 8[,.—32 -

| 2 8 &4 B 6 7 © 9 [0




B Cloins bﬂ taxi

The‘jour‘neﬂ bH taxi to town is 65 km.
So far the taxi has travelled 38 km.

How much further to SO?

Use the number line to solve this Pr‘o|0|em.

Ve

11z 18 14 15 16 17 18 19 20




ooooooooooooooooooooooooooooooooooooooooooo

It's qu‘tg time
First P|an!

Busi asks all of her friends to give her a Picture of their favourite qu‘tlj food. This is
what she has collected. He|P to sort it.

Count, and write how many friends choose each Kind of food.

E V. 9

Number

| 2 8 &4 B 6 7 © 9 [0
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Counting up to 200

Count the GPPIes.

.............

Fill in the numbers.

|Boxhas [ | apples IRowhas [ | apples
I ROW I'\(JS : bOXGS [|. ROWS I’\GS : GPPIeS

a. How many a|o|oIes will there be in five boxes?

B :...o.* ...... *.,..o.‘:,..o.*.,..o.a _
hl I I I I I I I I I [~

0 O 20 30 4O 580 60 70 8 90 100

b. How many QPPIes will there be in seven boxes?

“T | | | | | | | | | g
O 10 20 30 LO 50 &0 70 80 90 100
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3 lotsof |O make

5 lotsof 1O make X = or X =
2 lots of |O make X = or X —
5 Pairs of feet..

How many toes a|t09ether‘?

IO+ 10+ 10+ 10 + IO=- 5x10

or |Ox5=

Do these in the same way.

L Pairs of feet. How many toes?

or

. J

-
9 Pairs of feet. How many toes?

Count in [Os.

10, 20, 30, 40, 50,

,200

11z 18 14 15 16 17 18 19 20




Now count the fish. Find the total.

Count,ing in Os

Find the total number of fish eggs. Write a + and X number sentence.
We have done the first, one for you.

Fish and eggs How many eggs o|together?

Sfish eachlay2eggs |24+ 2+2+2+2=10 5x2=10

5 fish, each |c13 1O eqgs

5 fish, each |c13 [,. eqgs

5 fish, each |c13 3 eqgs

5 fish, each |c:3 b eggs

5 ﬂsh, each |c13 8 eqgs

5 ﬁsh, each |c13 5 eggs

| 2 8 &4 B 6 7 © 9 [0



5+5+5+5+5+5+5=

a | | | | | | | | | ™
0] 5 10 15 20 25 30 35 LO 45 50
5+5+5+ 5= or X =
b 1 | | | | | | | | | g
O 5 (0] 15 20 25 30 35 4O L5 50
5+5+5+5+5+5+5+5+5= or X =
T | | | | | | | | | s
¢ O 5 @) 15 20 25 30 35 O L5 50 ‘
+ 4+ + + + + + + + = or 10X 5=50 .
2 “§- “"4“ ........................................................................................................ . A
O R Catching fish . -

Sipho catches between 4O and 5O fish. He counts them in 2s and has | left over.

He counts them in Ss and has 2 left over. How many fish does Sipho catch?
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How many Pair‘s of socks?

How many socks are there?

Are there any socks left over?

| 2 8 &4 B 6 7 © 9 [0




Countins Pairs of socks

Whrite how many Pcirs of socks there are and say if there are any left over.

Number Number Sing|e socks

of Pairs of socks left over
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Count in 2s (continuecl)
BuiHinS Pairs

Write down the even and odd numbers from | = 60.

a.  Whrite down the even numbers from | — 60.
2. 4.b,

b.  Wkrite down the odd numbers from | — 60.
357

Oclcls qnd evens

DI"GW (o} circ|e QPOUI’\CI the even number‘s.

Draw a square around the odd numbers.
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From Pairs to socks

~

e
Examp|e:
2 socks = | Pqir ‘ 20 socks = 10 Pqirs
2X|=2 2 X110 =20
I\ J

a. Write how many socks.

Think in 2s Number sentence
| pair = 2 socks x| 2 | =] 2
2 pairs = socks X| 2 | =
A pairs = socks
8 pairs = socks
9 pairs = socks

b. Show the sum on the number line and comP|ete.

Example:
2+2+2=bor3X2=06

L ‘A

1z 18 14 15
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oooooooooooooooooooooooooooooooooooooooo

Moneﬂ then and now

The st.or‘ﬂ O'F our moneH

In South Africa we use rands and cents as our money.
We started to use rands and cents in [96l.

In those doﬂs the | cent, coin had the lowest, vo|ue, then the 2 cent coin and then the 5 cent coin.

*s

)

.----’.

o EHN EN EN BN BN W

&

Yes, you're
T used these small coins Y

to ay for alot of things.
hings were so cheap
then!

right,t ey are
no |on9er Eeing

mcde!

But, Crogo, I
have not seen —
land 2 cent |

coins.

Yes, I remember! | Pound was
20 s|'1i||in95, and | shi”ing was |2
: pence.

About 50 years ago we
still used Pounds, shﬁhngs
and pence.
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-----------------------------

C;helnts. OOOOOOOOOO
How many cents are there? OOOOOOOOOO
2000000000
2000000000
How many more certsdo you need to 229222229
nokoRIO0? 2000000000
,cccccc
200009

Draw them in the block. C C C O C C C C C C
) 9000000000,
R200 = c
RI50 = c
2 ‘ ‘ cost R4, 00. 2 6 6 cost R200.
How many bananas for R20,00? How many apples for R400?

11 12 18 14 15 16 [7 18 19 20



| tr‘ic30|e has wheels.

5tric3cleshove_wheels. 3+3+3+3+3=5x3=__
2tricycleshave  wheels. 3+3=2X3=

L tricycleshave  wheels.

b tricycleshave  wheels.

Qtricycleshave  wheels.

Btricycleshave  wheels.

a 3+3+3+3= =L X3=

I 2 8 & B 6 7 8 Y



b.

A

|
O 3 b q |2 15 I8 2l 2L 27 30
3+3+3+3+3= = X =
T | | | | | | | | | I

O 3 b q |2 15 I8 2l 2L 27 30

d < >
| | | | | | | | | | |
@) 3 b q 12 15 I8 2 2L, 27 30

At the 03c|e shoP Busi counts bic30|e and tric3c|e wheels.

There are I, wheels c|together.

How many |oic30|es are there?

How many tri03c|es are there?

1112 18 &
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COWS hqve f‘OUP |ess.

Some £, number facts ...
L +1[=82x[=8

What, else comes in fours?

|

Share answers.
Exp|ain what you did.

- o e
Yo b bee
e ¢ ke b
7 cows O} b Des g

e e e

I]

2z 8 & 5 6

g 9 10



ComP|ete the table below. Use the exomP|e to 8uide You.

3 cows have legs. | L+ h+h=3XL=__ I
5 cows have logs.
L, cows have legs.
7 cows have logs.
8 cows have legs.

Number lines

Show the mu|tip|ication sum on the number line and comP|ete usin&jumps [hops).

1112 18 &

16 17 18
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oooooooooooooooooooooooooooooooooooooooo

Draw more circles to comp|et,e each Pqtt.ern.

Write a name for each Pqttern.

a. Pattern: b. Pattern:
(o] (o] (o] (o] (o) (o) (o)
o (o} (o} o (o) (o) (o)
o (o} o (o} (o) (o) (o)
o (o} (o} (o} (o) (o) (o)
(o} (o} (o} (o} (o) (o) (o)
(o} (o} (o} (o} (o) (o) (o)

c. Pattern: d.  Pattern:

o

| 2 8 &4 B 6 7 © 9 [0



a. In this number Potter‘n all the numbers are even. What, can the other numbers be?
Whrite them in.

00000000

b. In this number Potter'n the numbers are all odd. What, can the other numbers be? Write them in.

CX XX KX XA

Where do theH be|on9?

The 3s and Lis Potter‘n The 3s and 5s Pottern The Lis and 5s Pottern
0.9 48

a
Thembi collects between 60 and 70 sea shells.
When she counts them in 3s, she has | left over.
The Possi|0|e numbers are: bl, L, 10,
When she counts them in Bs, she has 4 left over.

T|'1e POSSilDle number‘s are:

At the sea

HOW anH she”s CIOGS Thembl hqve?

1112 18 & H@ 16 17 18 19 20 67




b. Share the sweets among 3 children.

X

c. Divide the sweets between 5 children.




Now do these.

Q.

1 12

13

1 15 16 [7 [

1€ 20




Division (continued)

Use the number lines to write a subtraction and division number sentence.

EXGmPIGZ

e e I .

O 2 A b 8 [0 12 | [ 18 20
b-2-2-2-2-2-2-2-2=0

| 2 8 &4 B 6 7 © 9 [0



\ J

©© ©000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000,
. .

Challenge

ShOW G” the WGHS HOU can

divide 2/ sweets equa"g

between dif ferent groups
of children.

Whrite a number sentence

to ShOW BOUP answer.

©© ©00000000000000000000000000000000000000000,
© 0000000000000 00000000000000000000000000000 o°

. .
® 0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000 0°

11 12 18 14 15 16 [7 18 19 20



— &

Orne third One fifth One quc:r‘ter* One half

I 2 8 & B 6 7 8 Y




Share the counters between the two children.

000 0000 000000
000 0000 000000
000 | 000 o0 @00 o0
oo @0 000
* We got 2 counters | ® We 9°t' * We 9°t' * We got
each. counters each. counters each. counters each.
* Half of 4 counters | ® of ° of o of
is 2. counters is counters is counters is

[+2=2

one quarter of the sweets = 3
two quarters of the sweets =
* three quarters of the sweets =

four quarters of the sweets =

* one third of the sweets =

* two thirds of the sweets = _

* three thirds of the sweets =

1z 18 14 15

16 [7

164 20




2:15 5:30 9:4D
cluc:r't.er‘ Past. two half Post five cludr*ter‘ toten

Write these times in 2 different ways.

| 2 8 &4 B 6 7 © 9 [0




GOII’\S home

How |on9 cloes Ben take to get home? A ™
10 2%
minutes %9 3-
8 -
SRR
hours
Ben leaves school. Ben gets home.

HOW mdn3 v
minutes in 2 hours?
hours in 2 daﬂs?
daas in 2 weeks?
months in 2 Heqr‘s?
o Apri| Maq June \
: e M e e S
J HOW manﬂ ddﬂsr) SR EENA bl7]8|afiofn|i2 3|4|5]|6|7|8]9
- 1516|1718 @ [20] 2 31567 ]8]E NERENAED
A I"II 27 is Freedom Da 23[24 28] || [20] 21]22]23] 24 25] 26 17 [ 18] 19 [20[ 21[22]23
P 3 3O 27(28(29(30] 3l 24125|26127|28]|29 30/
June 1bis Youth DGH.
a. From Freedom DGB to Youth Doﬂ there is months,
whole weeks and daﬂs.
b. How many whole weeks in all?
How many days left over? . How many days in all?
: J oy g9y
c. Lebo's bir‘thdqtj is 1 clqﬂs before Freedom Dqg. |: Check. Co mpare. :|
: Musa's bir‘thdoﬂ is two dqgs after Youth Dqﬂ. Correct.

WI’\O is o|c|er‘? BH |’10W mqng dCIBS?

11 12 18 14 15 16 [7 18 19 20



Tar‘get 200

Countins the numbers

Count and say all the numbers from 101 to 200.
Point, as you go.

101 | 102
If
12|
13l
149
154
165

173 180

18I 186
198 200

) Writing the numbers
a.  Write the missing number in each blue square.

b.  Whrite in the rest of the numbers.

c.  Write the next IO numbers after 200.

200;

17 2 8 &4 B 6 7 © 9 10



Write the missing numbers

' &, [200] 180

L] el

10 207 |

237

( h

Write the numbers in order

from smallest to biggest.

i Count.ing on from |00 ’
X4 Work out what You need to get to the next number. :

Start [ 100 195 | 125 - 129 138

--------------------------------------------------------------------------------------------------------------------

11 12 18 14 15 16 17 18 19 20



oooooooooooooooooooooooooooooooooooooooo

\A/or‘king with groups of numbers

Packing candles

Ma Nkosi works at. a candle foctorﬂ.
When the candles are r‘eqdﬂ, she Pccks them out like this in boxes on racks.

HOW monH cqnc”es in ecch IDOX?

HOW monﬂ bOXGS on eqch PGCl(?

HOW monU ccnd|es on each PGC'(?

17 2 8 &4 B 6 7 © 9 10



) 5@ Boxes of candles

Ma Nkosi closes the boxes.

a.  Count all the boxes.

HOW manH bOXGS?

How many candles c|t,oget,|'\er‘?

How many more boxes does she need to fill to have 200 candles?

b. HOW monH canc”es in:

2 boxes? § L, boxes? i

5 boes? § 3 boxes? 8

b boxes? y 7 boxes? 8
c. How many boxes does she need for:

LOB boxes 708 boxes

506 boxes 304

11 12 18 14 15 16 17 18 19 20



Putting tens together‘ and

tqking them qqut
Putting tens together when we add.

_|_
7
7
7

5 tens and b units 7 tens and 3 units

- J

Together we have |2 tens.
We can Put IO tens toegether‘ to make | hundred.

Let's add
56 + 13 =

17 2 8 &4 B 6 7 © 9 10



Exomple 82 + 34

100 +20 + 6 =126

a. bd+52

b. 76+ 63

11 12 18 14 16 16 17 18 19 20



utt.ing tens together‘ and
tqking them aPart (continued)

Use HOUI‘ PIGCG vo|ue blOCkS.

Use base ten blocks to All together Did You group tens or units? Write the
make these two numbers. how many tens? Check the P|ace value where number.
how many units? You r‘egr‘ouped.
tens Il tens + 12 units
— — |22
23 +99 units =10 + |2
tens
38 + 25 = .
units
tens
77+ 3l = .
units
tens
68-+.45'_ units
tens
83_+‘47__ units

Taking tens aPart when we subtract

When we subtroct, we sometimes need to show

one ten as ten units, or one hundred as 1O tens.

Let's subtract: 6O —55 =

We start, with six tens and no units. We want to subtract five tens and five units.

(The units we are taking away we coloured gre )
J away Jred

LR [ | [ |
oonD g8 .
1 [ ] [ ]
o | .
OO0 [ ] [ ]
We can show six tens like this. Or as five tens and Take away five tens and five units.
ten units. Five units are left.
b0O-55=5

17 2 8 &4 B 6 7 © 9 10



Let us tr‘a.
a. 10-28

DERUNNN |DEDDEEEsSSS|munnne¢ses| HORRS
7 tens b tens an d 10 units 70 —28 =
b. 90-/4b
c. 80-53
Finclins the number Pair
: 200 g 200

30

11 12 18 14 15 16 17 18

19 20




oooooooooooooooooooooooooooooooooooooooo

How many times a ch
do you Er‘ush your
teeth?

a.  Count the ticks (\/ ) showing how often children brush their teeth. Write the numbers.
Once a ddﬁ

e

Twice a dcﬂ

Three times a ch

b.  What can You see from the table?

Most, of the children brush a cloﬂ.

There are children in the group.

17 2 8 & B 6 7 8 9 10



Draw a Pictograph of how many times a dag the children brush their teeth. -

\

[=|time]

DO a SUPVGH in BOUP ClGSS. ASl( |5_2O |eqrners.

a.  How many times a CJGS theﬁ brush their teeth?

b. Drawa Pictogr‘cph like the one above to show your ﬂndings.

11 12 18 14 15 16 17 18 19 20
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Add and combine

KJ"_ 2 3 Wr‘iting out your sum

Bsi can add units and tens and regroup them. She can add and

subtract on paper, without, blocks. Sometimes she likes to

start with her number cards to show the numbers.

So for the sum 56 + 73, she finds these cards: fShe writes it. out, like this: A
50 +70 +b+ 3
- n - — 50+ 70 +9
=120 +9
=100 + 20 + 9
She adds the units and Puts down the 9 card. . &: 129

She knows: 50 + 70 = 120.
She takes the hundreds, the 20 and the 9 card

to make a 3—di3it number.

s

e )
Dumi knows how the blocks work.

She does 5b + 73 like this:
50+6+70 +3

s
Ackar likes to round off.

Here's how he does this one:

56 + 73
120 +4 — 50 +70 + 10—
— |29 |=130-I=129
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a. 8b+ 62

(Busi's method I Dumi's method

80+b60+0b+2 80\-1—$—<60)2
b. 72+ 63
& J J
c. 8l+57
r \ ( )
& J J
d 69+l Use Aakars method to do this one.

f \ )
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-
Dumi's method

80+ 7-50 + 3

rBusi's method

80-50 +7-3

=30 +4 _30+1
= 3L =3,

b. 95-73

c. 8b6-62

d. 85-b9

\.
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There are many ways to add units and tens together‘. Choose the way you know and like best

to solve these Pro|:3|ems. Show your work.

a. Peter first Picks 3L Peqches and then b7 Peqches.
How many Peacl‘ues q|together‘?

b.  The Malusi kids save RLT toget,her‘.
Their mother gives them another R58. How much do tl'\eﬁ have now?

c.  The school bus travels 88 km in the mor‘ning and 73 km in the afternoon.
How many km a|toget|1er?

11 12 18 14 15 16 17 18 19 20



Solve it

USG qna methocl HOU ||ke Sl’\OW SOUP work. j

Andile

Sipho counts out 87 bottle toPs. Andile counts out 38.
How many more bottle toPs does Sipho count, than Andile?

MUSG

Musa sells tickets. He had 92 tickets to begin with. He has b7 left.
How many tickets has Musa sold so far?

17 2 8 &4 B 6 7 © 9 10



There are 69 chickens in one pen and 95 in another.

How many chickens are there altogether?

Reod hOW GUSU ond ACI'(GI" so|ve the Pr‘oHem.

GUSUIS WGH I subtracted I.

bO+90+9+5 Do youknow vh? o
=100 + 50 + I
=150 +10 + 4

= lo

a. The L‘)OHS collect R9b for a class triP. The sir|s collect R79.
How much do tl‘\eﬂ collect d|t09ether‘?

USG GUgUIS WGH Use AGkGPIS WGH

b. One school collects 76 kg of cans. Another school collects 68 kg cans.
How many kg of cans do the two schools collect a|together?

Use GUSU'S WGB Use AGI(GI'"S WGS
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Count and calculate

Finding the Part.

Write in the missing numbers.

“! 100 | P | 100 “l 1o | ¢ | 100
27 39 148 56
|l 200 | | 200 3| 200 | M| 200
14,0 |[6) 135 120
R ) Subtr'actlng back from 220 to 100
Subtract the numbers in the Plnk box each time.
We have done the first one for you.
220 —15 —| 205 -5 — -10
J H ' \
-20 to check Houtrj‘
Start at, [00.
“1-° 1 -9 —20 Work back
to 220.
-10 But this time,
add the numbers.
15 |~ 10 |- ~5 .| 100 | g
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<

4 N ) N 4
. 50 more and 50 less
v L7 Write the answers in the 2nd row.

70 125 | 180 8l 96 122 | 134 [l 10
+50

120

186 200 | 158 | 179 139 79 126 | 138 99
-50

|36

11 12

13

14 99 16 17 1S

19

20




Meqsuring in centimetres

How big is a centimetre?

| 2 3 A 5 b 1 8 9

The numbers on the ruler stand for centimetres.

We use the abbreviation or SHmbo| cm.

When You use a ruler, You must start to measure from O.
Some rulers do not. show the O like the one on this page.

Find zero cm on the ruler. Write O on the ruler.

Where is |O cm on this ruler? Write O there.

@ Estimate, then measure dccurot.e|3 with your ruler, the |en3th in cm of

the line moking each shope.

/

a. Estimate cm b. Estimate cm c. Estimate cm

Measure Measure Meosure
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How many cm |on9 is each line?

a cm
b cm
C. cm

Are HOU sure?

Which is |onger‘, the red line or the green line?

HOW can HOU check?

N

/ \ ( This is what is called an oPtica| illusion. \

This haPPens when your eyes are tricked into seeing
something that is not req"H there.
The two lines are the same |en9t|1.
The black lines extending outward make the red line look

|on9er and the black lines going inwards make the green

\ line look shorter. J
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Tar‘get 300

Count.ing and writing the 200s

Count from 201 to 300.
Point, as You go.
Then fill in the blue numbers first.

White in the rest of the numbers.

20| 207 210
2l
22|
23|
249
204
265
213 280
28| 28b
298 300

White the next IO numbers after 300.

300;
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What's theJumP?

30l 28|

7l

2l

Sl'\owing and compqring

a.  Whrite the numbers that go in each card.

298; 208; 30I; 276; 221,

209;

3l

I

--------------------------------------------------------------------------------------------------------------------

R _ Write the missing numbers.

200 — +25 |+ 225 - 237

300 28b 218

11 12 18 14 15 16 17 18
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Follow the two methods. Show each answer in two ways.

q 32 s 123 (

Busis method Dumi's method

~ 100 +100 + 30 + 20 + 2 + 3 132 + 123

=200 +50 +5 =200 + 50 + 5
=20 (=255 ,
b Il + 162

2 38 & b 6 7 8 9 10



c. 21b+148

r

Stuclﬂ each method. Work out, each sum in two ways.

a. 188-146

(Busi's method (Dumi's method
=100-100 + 50-4,0+8-b 158 — 14,6
=0+10+2

=0+10+2

= |2

i =12

b. 194 -122

f (

\ L

c. 288-199

p

11 12 18 14 15 16 17 18




Target 400

Counting and writing the l..OOs
ks b)) 9 9

Count on from 300 to 400.

SGH the number‘s as HOU SO.

Write the missing numbers on the grid.

30l 310
315
330
33l 335
249
365 368
213
390
400

Write the next 9 numbers after 400.

4O0;

17 2 8 &4 B 6 7 © 9 10



. Count 'FOPWCIPdS and bGCkWCIPdS

Counting forward from 300 in tens.
Start | 300 +|O | +l0 +lO
|
+lO
v
End — +IO «— +I0 — +I0
b. Count back from 4OQO in tens.
Start. | 4,00 |—{ 10 10 |- 10
|
-10
v
{10 o TS 0
|
-10
v
-0 — —10 > [y End

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Whrite as one number

300+ 20 + 4 = 300 +10+ 35 =
300 +80 + 3= 300+70+7=
300 +60 + 2= 300 +90 +9=
300+ 80 + 1= 300 + LO +8 =

Write the answers in order from smallest to biggest.

11 12 18 14 15 16 17 18 19 20



R T

~—

Weighing N
Add some ki|ograms.
Add and write the answers.

( Think smart! )

Jackal 25 kg Tortoise 98 kg Baboon 59 kg BGBH zebra 88 kg Pelican 9 kg

Round of f the mass of each animal to the nearest |O kg.

Write the mass of each animal in order from |ight to heavH.

Estimate the total mass of the 5 animals.

17 2 8 & B 6 7 8 9 10



I may not. be as heava as you, old Tor‘toise,

but, I sure am faster!

Steps

e Use your rounded of f amounts to estimate.

Estimate the mass of the animals in each row.

Caleulate the totals using the actual mass.

Compqr‘e the two totals and write the difference.

I estimate I caleulate The difference

( Check. Compare. Correct. j

Their total massis 239 kg. How much does Vusi weigh? Show You answer.

What's my weight?
P|c13 ina group. Take turns ...

Add your mass to the mass of some of the animals. Work out the
total. Tell the answer to the group. Don't show them your work!
Theg must then trg and work out, your mass.

11 12 18 14 15 16 17 18 19 20



A0S

48l 490
499 | 500

a. Count on from [,.OO. 303 the numbers as You go.

b.  Whrite the missing numbers in the gr‘id.
c.  Whrite the next 9 numbers after 5OO0.

900;

d.  Count in 2s. Write the next 8 numbers in the 2s Pattern.

LO0O; LO2;

e. Countin 5s. Write the next 8 numbers in the 5s Pat.t.ern.

LO0O; LOS;

17 2 8 &4 B 6 7 © 9 10



Fill in the missins numbers.

a. Add forward from 4OO.

Start | 4,00 — +20 > +30 — +l0
|
+I0
v
End — +50 «— +|0 «—{ +20
b.  Count back from 500.
Start | 5O0 -2 | 498 » 96 L9l
|
y
L3, |« LBl |« Lk |« 8L,
|
v
JATA - LOL - 402 OO0 | End

Showins the numbers. Follow the examP|e.

Find the totals. Use your number cards to show each total.

LO5+10 | 4I5S | LOO+I10+5 || 398+ 10

L4b 10 424 10

11 12 18 14 15 16 17 18 19 20



You are 9oin3 to use Busis and Dumi’s methods agqin to add.

o 245+ 23
(Busi's method f Dumi's method
— 200 + 200 + 4O + 30 + 5+ | 245 + 23
=400+70+6 =400 +70 +6
= L16 =176 |
b. 278 + 136
265 + 14,8

17 2 8 &4 B 6 7

g 9 10



Bu5|s methocl (Dumi's method

= L00-300 +70-20 + b4 76 + 32

=100 + 50 + 2 %&2

=100 + 50 +

=162
N (=182 )
b. £489-/,5b6
r N 2
c. L82-l6l
r N 2

Reacl‘ung the tarset

Studlj the Picture.

How much more to reach the tqrget?

11 12 18 14 15 16 17 18 19 20



oooooooooooooooooooooooooooooooooooooooo

Sharpen your skills

(_| | 5 I Secret, mountain

What's the name of the highest mountain in Crauteng? Use the code to find out.
Match each answer in the table to a letter in the code.

A|l B | C|D E F | G| H I J K L M
I 2 3 L 5 b 7 8 q |10 | |l 12 | I3
N | O P Q R S T U V| W | X Y /
L |15 (16 |17 |18 |19 20| 21 |22 |23 |24 | 25| 2b
Number clues Answer Letter
ExomP|e:2X3><3><|=|:| 18 R

50 + 50 + 50 + 100 -200 - 45 =[]
|+24+T7+10+7+1-14 =]
60-30 + 50 +20-50-15-20 =[]
3+2+7+1+2+1+3=011
5+3+30=4L+2+12+1
I00-5-70 =20 +[]

36 + LL—-60-2=[]

0+ 15=14 +[]

2+1+14L+9+1L =25+
IX2X2%X2x2=[]

The mountain's name is

| 2 8 &4 B 6 7 © 9 [0



Look, think and answer!

O x C *x O O x C % O O x C *x O

| 2 3 4 5 6 7 8 9 10 12 13 14 15
* What shaPe will number 16 be? Tick (\/) the right one. * O (
What shaPe will number 18 be? Tick (\/) the right one. * O (
What shaPe will number 23 be? Tick(\/) the r‘ight one. * O (
b.
Number 50 will be a %*. True or False?
Number 0O will be a ©. True or False?
Number 28 will be a €. True or False?

( Check. ComPare. Correct.

©000000000000000000000000000000000000000000000000000000000000000000000000000008 0 PPV TPICEITUISSY LS

¢ Which is more?

To 9et R250 a daH Pocket money
for June and Ju|3.

Orto get RI5O total Pocket money for
the two months?

Show how You worked it out.

11 12 18 14 15 16 [7 18 19 20
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. - . —_— . Tl e | eeeccccccccccccccccc00000000000000000 00 0
s @™
¥

o0
oA

e

I

ngmetr‘g

What do You notice about, these shopes?

e N

A line of sammet,r divides a sthe into two
halves so that each half is a mirror—imose

of the other.

A shape has sammetrﬂ if you can fold
it a|on3 the line of sgmmetrﬂ so that the
two halves match exact|3.

Is the dotted line a line of sgmmetrﬁ or not. Circle the (Y) Yes or (N) No.

Y/N Y/N Y/N Y/N

17 2 8 & B 6 7 8 9 10



Draw shqpes to make the Picture sHmmetr‘icaL

We have done the first, one for you.

Create your
own sHmmetr‘iccﬂ
carpet. using

sthes.

e o o e e e e e e e — — — — —————

11 12 18 14 15 16 17 18 19 20



BuiHinS up to 500

X
..'T ) Counting the qpp|es.

ComP|t and multiply
| basket holds apples. |1 X10 =10
3 baskets hold apples. |3 X 10 =
S baskets hold apples.
Ly baskets hold apples.
2 baskets hold apples.
| crate holds |00 apples. 2 crates hold apples.
3 crates hold apples. | 4 crates hold apples.
S crates hold apples. | 2 half crates hold apples.

17 2 8 &4 B 6 7 © 9 10



Ther‘e are IO GPPleS in I l)GSket.

There are baskets in one crate.

There are GPPleS in one crate.

How many dPPleS are there a|together‘?

3 Lo\
First use number cards to show each total. Then write in the number.

3 crates --I- L, baskets @4— o) GPPleS ‘ = 345 cPP|es

L, crates -+ 5 baskets @-I- 7 GPPleS ' = GPPleS

O crates -+ 2 baskets Q-i- 3 GPPIGS ' = OPPIGS
[.. crates --l- 7 basketss @4— 2 GPPleS ' =

11 12 18 14 15 16 17 18 19 20



Mu|tip|icotion and division (|O)

Counting the GPPleS.
Fill in the table.
How many baskets hold the GPP|es?

Appes @ | 10 20 30 4O 50

Baskets Y

- sum 50+10=5

5 X10=50

Divide the dPP|es between the children. Make a dr‘awing.

Write a division and mu|t,iP|icqtion sum to check your answer.

&

CheCk HOU answers !\
==
(Ix=0]

W 1 23 46567 8 9

~

-
\
-
\




Whrite a + sum

Whrite a X sum to

check your answers

J |\

,390,

11 12 18 14 15 16 17 18 19 20




Count, in 2s
) Counting forwards and backwards in 2s

a. 232; 23k ; ; : 24.2; ; ;248
b. 500; ; 496; ; ; 490;

c. LbO; ; ; LOO; ; 360;

d. 34l; ; 36l; ; ; 34I;  Ll;

Pairs of gloves """‘" v
P A

a. How many Pqirs of 3|oves in one row?

b. How many sing|e g|oves in one row?

C. HOW manH POWS?

d.  How many 9|oves c|t09ether‘?

e. Show how You work it out.

£ Write your answer as a number sentence.

X —

17 2 8 &4 B 6 7 © 9 10



HOW manH 9IOVGS?

Write in the tables.

" | Pair of

8 |oves

Number O'F

9 IOVGS

L 3 100

Sin8|e g|oves 20 2| 70 13

Pairs that
can be made

Sin3|e 3|oves

left, over

Count in twos

a.  Which number comes in between?

204, , 268 341, , 395 L, , 410

b.  Whrite the next two numbers.

313,315,377,319 | 480,482, , 262, 261,

c.  Whrite the next two numbers.

3.6, 348, LIS, 41T, : 297,299,

11 12 18 14 15 16 17 18 19 20



T~ S e e o e N A

How shall T place
them?

Mrs Mabena has some Pr‘ettﬂ tiles.
She uses them to pave an area in her gor‘clen.

There are b square tiles of the same size.

I can make I can make 2 rows with I can make 3 rows with
| row with b tiles. 3 tiles in a row. 2 tiles in each row.

bX|=06b 3X2=56 2X3=6b

Now it's your turn!

Shade blocks to show how you can arrange 8and 9 square tiles.

8 SCiUGI‘eS q SClUGI‘eS

Whrite number sentences for each drdwing.

17 2 8 & B 6 7 8 9 10



X k Ar‘rqnse 12 tiles

Thc has 12 square tiles to pave next to the house. He||:> him find all the ways he can do this.

Whrite a number sentence for each way.

ExamP|e: |X|2=|2
LL LTl rrrgl 2% [ =2

Armnge 2L, tiles

*  Usethe 3rid in Cut - out, sheet, 2.
*  Shade 2/ blocks in different ways.

*  Whrite number sentences to match each drowing.

Ican mu|tiP|3!

11 12 18 14 15 16 17 18 19 20



Using fives

Knowing your Ss

Fill in the answers.

I 2 3 A S b 8 9 [0

a. HOW monﬂ conc"es in ecch l‘.')OX?

b. How many boxes in each row?

c. How many candles in each row?

d. How many candles a|toget|'1er‘?

Showins the answer

Tick (\/ ) the number sentences that show the total number of candles.

b. 15X 3= c. 3IX5X5=

d I5X5=

17 2 8 &4 B 6 7 © 9 10



Counting forwards and backwards in 5s

a. 85; ; ; 10; ; : 55;
b. 240; : . 255; : : : . 280
c. LO5; - 395; ; : 380; ; : 3b5;

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Co"ect.ins R5 coins

] ThhiHr‘en collect RS coins. How many RS coins do theﬁ need to collect to have R ?
We have done the first two for You.

R5 +R5 RIO ~R5
= coin = 2 coins RIS? R207? R25?
| R30? R35? RLO? RL5? R507?
Do you see the
2XR5=|R [|_ X R5 = R Pqttern?
3xR5=|R b xXR5=|R

u

MUIt'iPIHinS bH 5s [Exomplez X5 =511 x5=58521x5=105 ]
Think smart! Build on facts You know!

r

I 2 3 A S b 7 8 9 |10
5 | 10
I 2 | B | 1L |15 |16 7T |18 |19 |20
99

11 12 18 14 15 16 17 18 19 20
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